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a = np.array([ . 1)

exp_a = np.exp(a) # 71520E5%¢
exp_a
array ([ , , 1)

sum_exp_a = np.sum(exp_a) # exp_a D#EF]

exp_a / exp_a_sum # IF#E(E

array ([
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softmax(a):
# lVCCICO—RzZEZ0I1TH

| D NIF0OK

a = np.array([ , . , 1)
softmax(a)

array ([ . . . 1)
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softmax(a):

exp_a = np.exp(a) # IEEEKDS
sum_exp_a = np.sum(exp_a) # Bitzkovs
y = exp_a / sum_exp_a # S5CEIS

Y
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exp(ay)  exp(ag) /C

Y = = )
2?21 exp(a;) Zz 1 exp(a;) / C

)

(

_ eXp( ag /exp(a'ma,w)
Y. . exp(a;) / exp(@maz)
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= np.array([ , , 1)
np.exp(a) / np.sum(np.exp(a))
Warning...
array([nan, nan, nan])

a_max = np.max(a) # a_max = 1010
a - a_max
array ([ , -10, -110])

np.exp(a - a_max) / np.sum(np.exp(a - a_max))
array ([

4
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softmax(a):
# lVCCICO—RzZEZ0I1TH

| D NIEOK

a = np.array([ , . 1)
softmax(a)
array ([ ' ' 1)
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softmax(a):

a_max = np.max(a)

exp_a = np.exp(a - a_max)
sum_exp_a = np.sum(exp_a)
y = exp_a / sum_exp_a

Y
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